EAGRAROBREERT — 2 N— ABISH —F

2020F4R1H (k) 1[E#E1 R

Rhl & 7% —#x C3

‘ [Ri&] & ‘ [REBE] — | & (&) 10000 RE

[A&E£] 1 7% :900,000 W ~ 23%&:351,000 "  33#&:225,000 W 43 :135,000 K 5 & :99,000 8

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S 5 . 7 | KE 1:01.9 6-6 37.7| — 7 451 | FBEEE ()
100 6 YIZTFv 54.0 (=) (-8) HESE
L:7v3is—L B:F—-Uarv=7 HE f5—
o @ BEEZE :02. = X = TREfREE (aFn)
7 6 BN ZANRAY 2 5 8 1(10/22)0 L s ?f; AL
R:2 kA>T UE—2 Bk AFU— BEWS
> — st 7 | Rtk 1:02.1 9-8 37.5| — 12 457 | EEBE (GHF)
3 71Ea—77 56.0 (1/2) (-3 | EEHES
R:2g—1)rgO0-x B:S-—d—ZXH HET 7 — L
- N A B F1 2 : - — BRI (GaF)
Aol 2F 2T - H o7 o 1(;1%:1 4-3 38.4 10 <5+215) %EHFE*;T
RiFHYvT7124 B:Fr—3>F4>0 FIRI IE
3 7 | EERE 1:02.5 10-11 37.6| — 5 514 | EEEIERE (J110&)
51712 v bt TTaA it %53.0 ® 47 | R Sy IR
L:vn7x B:YvlL—KE- Fy P EF T — L
. . 7 | BEY 1:02.6 7-7 38.3| — 3 447 | FHBEE (A1)
cB 2 xU-2EF-x 54.0 (9) G | BTEEE
L:a2=—/xLLy b B:MYTLELTY b H—L— - TvIS> - T7— LEBRE
o NN B4 | BIFERER 1:02.7 1-1 39.4| — 9 449 | 1E2KIL (AAHE)
717111 Ea77HR—3> 252.0 (1/2) = EHEH
LB/ v Te BIOXEVYU-— EvJLy RT7—L4
=3 N 4 6 | BRI :02.7 1-10 [37.6| — 1 | 478 | EEHSE (E)
8l5/8|=Y/~%v/N 56.0 (7€) (+p) | EEREES
R:vavFhr7 B:4rU-—¥arl— HE SR
e, o : 4 4 | HlRTHEA 1:02.8 3-4 39.4| — 4 453 | BERET ()
EH 5 V=% &N 54.0 (1/2) (-1) =[EEE
R:TIvIaAR BTITIIN——F N7 7 — L
PR 47 | Wit 1:02.9 5-5 39.0| — 2 474 | ABF— (1)
10814 7TV E F—5— 54.0 (76) (g | BoEE—
L:74NVKTy>a B:Fdy KR—%2— BT 7 —L
A o7 | WER 1:03.0 8-9 38.6| — 6 511 | TR E5A (fafR)
EH gl FELY—X > 56.0 (1/2) 42) | ABEET
gL FI 0 ML BTIAYAT LT HHES
= 4 6 | I3 1:03.3 1-2 4.0 — 1 467 | KEFEHE (GE)
12/8[13| Y7~ 54.0 (1 1/2) (g) | HILLEA—
R:ATI RS BiSTLTry J =% Ty — I
4 7 | WAETF 1:05.7 14-14 38.9| — 13 467 | ETIEE (IA18)
13111 | FxAMTKR=7 54.0 (21 4) (-p3) | THREIT ;
R:TFy k-0 BRFTILY4L AH tF
o> R EiEEt :06. = . — TREETT (GAF)
” | FamTasots B4 E 1(046)6 13-13 | 40.8 14 (4:1“1) ng’gé%;
Rt /a7aq4 BiialTutA 54 EZ
® 1 —F—@EBIERL
13—=7-—
2a=5=
Jol=7r= (11,13),5,10,14,6,2,4,7,12,8,9,3,1
43—+ — 11,13,10,5,14,6,2,7,4,8,12,9,3,1
[ N5
B 6 1,390 714K 6-9 2,220 e E 4-6 2,810 JEE 6-7-9 229,560
B B 6 610M 6-7 34,360 e B 4-6 6,030 3B 6-9-7 1,450,320
9 460M 7-9 25,960M B & 6-9 7,420M
7 5,070 B H 6-9 12,580M

ARICOVWTRDTEEERROODE. TR LI,




